4 5 6
15
20
100 20
3 ?
(A) 8 (B)8 16 (C)16 24
(D)24 32 (E) 32
y=sinx 0<x<2r ( x=0 ) ?
A0  ®1 (©2 (D3 (B4 Y
X,y X =log,, X,Y =10g,, ¥ 2
1
XY . Xy 05
) 1 2 3
(A) (B) © (D) (E)
ABC. A=60°,AC=b,AB=c, BC D, @:és_c. s=AD ¢

A) % (b2 +4c? +4bc)  (B) é (b2 +4c? +2bc)  (C) % (b2 +4c>—2bc) (D) é (407 + 7 + 2bc)

(E) %(4b2 +¢? —2bc)

2 5 8
16 ; 1.6

(A)
(B)
(©)
(D)
(E)

(+2,20), (+/2,20), (v2,-20), (+/2,-2,0)

?

(A)(2,02 (B)(02+2) (COK224) (D)(W2,22V2) (E)(-2,0-2)



60 )
5 8
1 2 .. 5 (
( )
y—ax A
a a (1)
1(1,0)
x=0,y=0,z=0,x+y+z=1

@ )

6 ( 6

— @ y
x* +y* =16 XY % x

16 9
x=1,x=2 C & a
E % (4)
f=3x x=8 ( ) 7
(5)
a,b,c b,c 2 (13x+ a)® = (12x+b)? + (5x+¢)?
X a,b,c
a 0 0(0,0 ay=a’-x° P(st) s O P

Xx y QR P OQR



1.D 2.B 3.B 4.B 5. CDE 6. AE

1.-+3<a<0 2.ﬂ 3.2 4.2 5, 0L
6 9 3 288

°|5

a=26,b=24,c=10



